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Lise 0.7 mrn mechanical peneil, Keep 0,23 inch
frorm edge of box, Eose mostukes thoroughly,
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Use 0.7 mm mechanical pencil. Feep 0,25 inch {C, I p ?2

from edge of box. Erase mustukes thoroughly. Problem Type Acronym Wime D &
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Ulse 0.7 mm mechamcal pencil, Keep 0,25 inch CJ Ll-

from cdge of box. Erase mistakes thoroughly,




Llse 7 mm mechanical pencil.  Eecp 0.25 inch CTP S_

from cdge of box, Brase sstakes horaughly,
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Use 0,7 mm mechomacal pencil Keep 0.25 inch
froim edge of box. Brase mistakes thoroughly,
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